
 第1/3页 2019-08

型号 DUC204

充电式电链锯
18V



 第2/3页 2019-08

型号 DUC204
图号 零件编号 零件名称 数量 价格代码 备注

1 458490-5 侧把手 1 CP18
2 183J27-6 外壳组件 1 CP32 包含零件.39

2C01 263005-3 橡胶柱 6 2 CP2
3 266326-2 自攻螺丝 M4X18 8 CP1
4 266041-8 自攻螺丝PT5X25 2 CP4
5 168508-1 箱盖 1 JP17 包含零件.6
6 213355-6 O形圈 25 1 JP10
7 421959-2 密封圈　 1 CP6
8 140A75-4 油壶组件 1 CP29
9 422271-3 连接头A 1 CP10
10 422272-1 连接头B 1 CP9
11 450437-5 过滤器 1 JP26
12 424612-9 衬环 1 CP3
13 266041-8 自攻螺丝PT5X25 3 CP4
14 458489-0 马达座 1 CP15
15 142857-4 油泵组件 1 JP30
16 266326-2 自攻螺丝 M4X18 2 CP1
17 210026-6 轴承696ZZ 1 JP17
18 961006-2 挡圈S10 1 CP1
19 221428-1 涡轮　　　　 1 JP15
20 619518-6 转子 1 CP45
22 266326-2 自攻螺丝 M4X18 3 CP1
23 629378-8 定子组件 1 CP39
24 210059-1 轴承6000DDW 1 CP16
25 962105-3 挡圈 R-26 1 CP6
26 458497-1 挡杆 1 CP9
27 651365-9 开关 C3JW-6BM-P 1 CP31
28 233476-8 压簧 4 1 CP1
29 458495-5 开关按钮 1 CP8
30 632L49-0 开关单元 1 JP25
31 632L48-2 开关单元 1 JP29
32 140A76-2 控制器组件 1 CP61
33 458508-2 前挡板 1 CP16
34 232453-7 压簧 1 CP2
35 310879-4 扶手导向 1 CP6
36 643874-2 电池接板 1 CP16
37 347377-5 挂钩支撑 1 CP7
38 281222-3 挂钩 1 CP5
39 183J27-6 外壳组件 1 CP32 包含零件.2

39C01 263005-3 橡胶柱 6 2 CP2
40 422270-5 垫块 1 CP7
41 227620-7 驱动齿轮 1 CP10
42 227634-6 直齿圆锥齿轮14 1 CP15
43 455241-7 加紧螺丝 1 CP7
44 347376-7 张力滑杆 1 CP9
45 327120-8 调节螺丝 1 CP11
46 227496-2 直齿齿轮 14 1 CP10



 第3/3页 2019-08

型号 DUC204
图号 零件编号 零件名称 数量 价格代码 备注

47 455242-5 加紧螺丝 1 CP7
48 458491-3 外壳盖R 1 CP12
49 266326-2 自攻螺丝 M4X18 4 CP1
50 140A74-6 连杆组件 1 CP15
51 232452-9 压簧 1 CP7
52 347372-5 刹车带 1 CP16
53 161871-1 离合器鼓轮组件 1 CP21
54 213060-5 O形圈 10 1 JP3
55 221464-7 链轮 6 1 CP11
56 961013-5 挡圈 E-7 1 CP3
57 347374-1 导向板 1 CP8
58 347373-3 链条挡块 1 CP6
59 266905-6 螺栓 M5X12 1 CP6
60 266388-0 自攻螺丝 5X16 1 CP1
61 266007-8 自攻螺丝 PT3X10 1 CP1
62 347375-9 导向板 1 CP8
63 136122-1 链轮盖罩 1 CP24 包含零件.61,62,64,65,70
64 161870-3 法兰螺母组件 1 CP16
65 458499-7 螺母盖 1 CP9
70 422310-9 导向板 1 CP7

A01 161848-6 导板 8 1 CP30
A02 458503-2 导板盖 1 CP20
A03 199076-3 链锯 1 CP28
A04 782023-7 扳手 13-16 1 CP15
A09 831304-7 附件包　 1 CP14


